	____ 1.	Grave's disease develops from a hormonal imbalance of the ________ gland. 

	A)	adrenal    B)  parathyroid    C)  pituitary    D)  renal    E)  thyroid 





	____ 2.	For hormone action, receptors are located in 

	A)	endocrine glands. 	D)	the bloodstream. 

	B)	exocrine glands. 	E)	the nervous system. 

	C)	target cells. 





	____ 3.	The largest group of hormones is the 

	A)	carbohydrates. 	D)	proteins and polypeptides. 

	B)	ions. 	E)	steroids. 

	C)	nucleic acids. 





	____ 4.	Glucagon signals the __1__ to stimulate the breakdown of__2__. 

	A)	1 - brain, 2 - insulin 	D)	1 - liver, 2 - glucose 

	B)	1 - brain, 2 - glycogen 	E)	1 - liver, 2 - glycogen 

	C)	1 - kidney, 2 - proteins 





	____ 5.	Cortisol is a 

	A)	carbohydrate.    B)  ion.    C)  lipid.    D)  nucleic acid.    E)  steroid. 





	____ 6.	A circadian rhythm is a ________ rhythm. 

	A)	1-minute    B)  1-hour    C)  12-hour    D)  24-hour    E)  monthly 





	____ 7.	Which endocrine gland has both an anterior and a posterior lobe? 

	A)	adrenal    B)  hypothalamus    C)  pancreas    D)  pituitary    E)  thyroid 





	____ 8.	A portal system begins and ends in 

	A)	arterioles. 	D)	neurons. 

	B)	capillaries. 	E)	receptors. 

	C)	endocrine glands. 





	____ 9.	The anterior pituitary produces _________ protein and polypeptide hormones. 

	A)	2    B)  5    C)  7    D)  10    E)  12 





	____ 10.	The growth hormone acts mainly on 

	A)	bones and muscles. 	D)	the hypothalamus. 

	B)	endocrine glands. 	E)	the kidney. 

	C)	motor and sensory neurons. 





	____ 11.	Excess secretion of the growth hormone during the growth phase of a person's life produces 

	A)	acromegaly. 	D)	giantism. 

	B)	diabetes mellitus. 	E)	myxedema. 

	C)	dwarfism. 





	____ 12.	The secretion of the glucocorticoids increases the concentration of ________ in the blood. 

	A)	glucose    B)  glycogen    C)  lipids    D)  proteins    E)  water 





	____ 13.	FSH is secreted by the 

	A)	anterior pituitary. 	D)	posterior pituitary. 

	B)	gonads. 	E)	thyroid. 

	C)	parathyroids. 





	____ 14.	ACTH is secreted by the 

	A)	adrenal cortex. 	D)	posterior pituitary. 

	B)	anterior pituitary. 	E)	thyroid. 

	C)	pancreas. 





	____ 15.	The posterior pituitary secretes ________ hormones. 

	A)	2    B)  4    C)  6    D)  8    E)  9 





	____ 16.	A deficiency of ADH produces 

	A)	diabetes insipidus. 	D)	hypoglycemia. 

	B)	diabetes mellitus. 	E)	water retention. 

	C)	hyperthyroidism. 





	____ 17.	ADH stimulates __1__, which __2__ blood pressure. 

	A)	1 - vasoconstriction, 2 - decreases 

	B)	1 - vasoconstriction, 2 - increases 

	C)	1 - vasodilation, 2 - decreases 

	D)	1 - vasodilation, 2 - increases 

	E)	1 - water reabsorption, 2 - decreases 





	____ 18.	Oxytocin is secreted by the 

	A)	adrenal cortex. 	D)	posterior pituitary. 

	B)	anterior pituitary. 	E)	thyroid. 

	C)	pancreas. 





	____ 19.	The secretion of calcitonin regulates the blood concentration of 

	A)	copper.    B)  iron.    C)  phosphate.    D)  potassium.    E)  sodium. 





	____ 20.	Thyroxine and triiodothyronine are 

	A)	acids.    B)  amines.    C)  lipids.    D)  proteins.    E)  steroids. 





	____ 21.	Exophthalamos means 

	A)	an enlarged thyroid gland. 	D)	low blood sugar. 

	B)	bulging eyes. 	E)	sodium deficiency. 

	C)	high metabolic rate. 





	____ 22.	Vitamin ________ increases the responsiveness of bone to PTH.

	A)	A    B)  B    C)  C    D)  D    E)  E 





	____ 23.	Diabetes mellitus involves a disorder of the 

	A)	brain.    B)  kidney.    C)  pancreas.    D)  pituitary.    E)  spleen. 





	____ 24.	The pancreas is located near the curve in the ________. 

	A)	ascending colon. 	D)	jejunum. 

	B)	descending colon. 	E)	ileum. 

	C)	duodenum. 





	____ 25.	Insulin is produced by ________ cells. 

	A)	alpha    B)  beta    C)  delta    D)  gamma    E)  theta 





	____ 26.	Gluconeogenesis 

	A)	elevates the level of sugar in the blood. 

	B)	increases the size of the liver. 

	C)	reduces the absorption of calcium. 

	D)	slows down the metabolic rate. 

	E)	stores fat. 





	____ 27.	Type II diabetes mellitus is ________ diabetes. 

	A)	early-onset 	D)	juvenile 

	B)	gluconeogenic 	E)	late-onset 

	C)	glycogenic 





	____ 28.	About ________ percent of the output of the adrenal medulla is adrenalin. 

	A)	20    B)  40    C)  60    D)  80    E)  98 





	____ 29.	The secretion of adrenalin and noradrenalin stimulates each of the following except 

	A)	bronchiole constriction. 	D)	increased glucose in the blood. 

	B)	increased oxygen to brain cells. 	E)	increased heart rate. 

	C)	increased oxygen to muscle cells. 





	____ 30.	The secretion of aldosterone stimulates the reabsorption of 

	A)	calcium.    B)  iron.    C)  potassium.    D)  selenium.    E)  sodium. 





	____ 31.	The endocrine glands are the ductless glands. 

	A)	True   B)  False





	____ 32.	Tropic hormones stimulate endocrine glands. 

	A)	True   B)  False





	____ 33.	The secretion of glucagon decreases glucose concentration in the blood. 

	A)	True   B)  False





	____ 34.	Positive feedback loops are common in endocrine function. 

	A)	True   B)  False





	____ 35.	Steroid hormones are transported in the blood by proteins. 

	A)	True   B)  False





	____ 36.	Neurosecretory cells are located in the hypothalamus. 

	A)	True   B)  False





	____ 37.	The growth hormone is a protein hormone. 

	A)	True   B)  False





	____ 38.	Testosterone is a protein hormone. 

	A)	True   B)  False





	____ 39.	TSH is secreted by the thyroid gland. 

	A)	True   B)  False





	____ 40.	Two of the three thyroid hormones stimulate the breakdown of glucose. 

	A)	True   B)  False





	____ 41.	ADH is a glucocorticoid. 

	A)	True   B)  False





	____ 42.	ACTH secretion promotes an increase in the release of glucocorticoids. 

	A)	True   B)  False





	____ 43.	FSH functions in men and women. 

	A)	True   B)  False





	____ 44.	The secretion of LH inhibits progesterone secretion in women. 

	A)	True   B)  False





	____ 45.	The secretion of LH in men inhibits the secretion of testosterone. 

	A)	True   B)  False





	____ 46.	ADH consists of nine amino acids. 

	A)	True   B)  False





	____ 47.	ADH is a vasoconstrictor. 

	A)	True   B)  False





	____ 48.	The release of oxytocin blocks milk let-down. 

	A)	True   B)  False





	____ 49.	The follicles in the thyroid gland store thyroglobulin. 

	A)	True   B)  False





	____ 50.	Goiter of the thyroid gland results from the loss of thyroglobulin by follicular cells. 

	A)	True   B)  False





	____ 51.	Thyroxine accelerates the use of glucose by cells. 

	A)	True   B)  False





	____ 52.	Hypothyroidism is excess thyroid activity. 

	A)	True   B)  False





	____ 53.	The secretion of calcitonin decreases the calcium concentration in the blood. 

	A)	True   B)  False





	____ 54.	The secretion of PTH opposes the action of calcitonin. 

	A)	True   B)  False





	____ 55.	Insulin and glucagon have opposing effects on glucose concentration in the blood. 

	A)	True   B)  False





	____ 56.	The islets of Langerhans are located in the kidney. 

	A)	True   B)  False





	____ 57.	Insulin secretion increases the uptake of amino acids by skeletal muscle cells. 

	A)	True   B)  False





	____ 58.	Glucagon is produced by beta cells of the pancreas. 

	A)	True   B)  False





	____ 59.	Type I diabetes is juvenile diabetes. 

	A)	True   B)  False





	____ 60.	The glucocorticoids are secreted from the cells of the adrenal medulla. 

	A)	True   B)  False





	61.	TSH is released from the cells of the ________ gland. 





	62.	Polypeptide hormones are ________ soluble. 





	63.	The level of glucose in the blood is monitored by cells in the ________ of the brain. 





	64.	The ________ are the intermediary hormones of the growth hormone. 





	65.	As the level of thyroxine increases,  the secretion of TSH-RH ________. 





	66.	ACTH-RH is secreted from the ________. 





	67.	Prolactin secretion is controlled by a ________ reflex. 





	68.	A reduction of ADH secretion decreases the _________ of water by the kidney. 





	69.	Goiter of the thyroid gland develops from a deficiency of ________ in the diet. 





	70.	The secretion of calcitonin inhibits the activity of specialized cells called ________. 





	71.	Excess PTH results in the loss of ________ from the bones and teeth. 





	72.	_________ groups are added to glucose when it enters liver cells. 





	73.	Glucagon secretion is regulated by a(n) ________ feedback loop. 





	74.	Obesity is commonly associated with type ________ diabetes. 





	75.	An overdose of insulin can cause insulin ________. 





	76.	What are the five areas of hormone function? 





	77.	What are the differences in control by the nervous and endocrine systems? 





	78.	How does the release of PTH increase the concentration of calcium in the blood? 





	79.	What is the difference between insulin-dependent and insulin-independent diabetes? 





	80.	Match each term on the left to an appropriate association on the right.

		

			____ adrenalin	A. adrenal cortex

		

			____ aldosterone	B. adrenal medulla

		

			____ calcitonin	C. anterior pituitary

		

			____ glucagon	D. pancreas

		

			____ oxytocin	E. posterior pituitary

		

			____ prolactin	F. thyroid 







�Answer Key -- Chapter 14



	1.	E	



	2.	C	



	3.	D	



	4.	E	



	5.	E	



	6.	D	



	7.	D	



	8.	B	



	9.	C	



	10.	A	



	11.	D	



	12.	A	



	13.	A	



	14.	B	



	15.	A	



	16.	A	



	17.	B	



	18.	D	



	19.	C	



	20.	B	



	21.	B	



	22.	D	



	23.	C	



	24.	C	



	25.	B	



	26.	A	



	27.	E	



	28.	D	



	29.	A	



	30.	E	



	31.	A	



	32.	A	



	33.	B	



	34.	B	



	35.	A	



	36.	A	



	37.	A	



	38.	B	



	39.	B	



	40.	A	



	41.	B	



	42.	A	



	43.	A	



	44.	B	



	45.	B	



	46.	A	



	47.	A	



	48.	B	



	49.	A	



	50.	B	



	51.	A	



	52.	B	



	53.	A	



	54.	A	



	55.	A	



	56.	B	



	57.	A	



	58.	B	



	59.	A	



	60.	B	



	61.	anterior pituitary 



	62.	water 



	63.	hypothalamus 



	64.	somatomedins 



	65.	decreases 



	66.	hypothalamus 



	67.	neuroendocrine 



	68.	reabsorption 



	69.	iodine 



	70.	osteoclasts 



	71.	calcium 



	72.	Phosphate 



	73.	negative 



	74.	II 



	75.	shock



	76.	Hormones promote homeostasis, growth and development, reproduction, energy production-storage-use, and behavior. 



	77.	The nervous system elicits a rapid, short-lived response.  It signals by bioelectric messages along neurons and by neurotransmitters at synapses.  The effect of the endocrine system is slower and longer through hormones circulating in the blood. 



	78.	It stimulates osteoclasts to release calcium from the bones.  This hormone also stimulates the reabsorption of calcium by the kidney and stimulates the absorption of calcium from the small intestine. 



	79.	Insulin-dependent diabetes develops from a deficiency of insulin.  Without this hormone, the signal for removing glucose from the blood is lost.  This type of diabetes can be treated with insulin injections. Insulin-independent diabetes is not the result of an insulin deficiency, but is caused by the lack of responsiveness of target cells to this hormone. 



	80.	B, A, F, D, E, C
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